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D k. (S#k17, Afk15740%, Bik2 158, C#3430% )
433 10m = IRpl km (2) W 9km = m
43 80m = W km (4)  WpH 15km = 534 m
T 200m = IREH km (6) R 240km = 4338 m
5378 150m = Rpk km (8)  IRpH10.8km = 77 m
4338 12.5m = REH km (10) K 44km = 4738 m
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D AKX (Sth14, A1340%, B2 158, C#345530% )

533 20m = REH km (2)  IKp# 6km = 70k m
533 60m = IREH km (4)  WpH 48km = 33 m
43 300m = IR km (6)  WE# 120km = 47 m
53 240m = i km (8)  IRpEH 4.2km = 43k m
G3 17.5m = WRp km (10)  IRpd 100km = 433 m
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REFAN Hff RSOER BESHE 01 REED

RD k. (S#k17, Afk15740%, Bik2 158, C#3430% )

* T ~m = WpE ~ km x 60 = 1000 9 %.
* Bl ~ km = 2% ~m x 1000 =60 3 %.

(1) 2% 10m = KpE| 0.6 [km (2)  HEpE 9km = 23| 150 |m
10 x 60 = 1000 = 0.6 9 x 1000 = 60 = 150
(3) 43 80m = IRp | 4.8 |km (4) Rpd 15km = 3% | 250 [m
(5) 43 200m = EpE| 12 |km (6)  HEpE 240km = 47#| 4000 [m
(7) 4@ 150m = H#| 9 [km (8) Mk 10.8km = 43#| 180 [m
(9) 7 12.5m = Ki#| 0.75 |[km (10) 5 44km = 47 733% m
L an . 44000 2200
44 x 1000 + 60 = 0 3
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D AKX (Sth14, A1340%, B2 158, C#345530% )

433 20m = REd| 1.2 |km (2)  Wp#E 6km = 2| 100 |m
ST 60m = i | 3.6 |km (4) MW 48km = 47| 800 |m
7 300m = Fp#| 18 |km (6) Wi 120km = 27| 2000 |m
433 240m = R | 14.4 |km (8) MW 4.2km = 43| 70 |m
o 17.5m = IKf# | 1.05 |km (10) W% 100km — 43 1666% m
100000 5000
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